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The total amount of

money earned within
a country.

and goods produced in an economy during a specific period
of time. It includes both the public and private sectors and
encompasses everything from haircuts to housing, from
medical care to national defense. National income 1s also

commonly referred to as gross domestic product (GDP).
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®* GDP is the money value of all final goods and
services produced in the domestic territory of a
country during an accounting year.
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*/ Monetary value of final goods and services which 1s
produced by the citizens of any country in a financial
year, called GNP.

/F’roductlon by those Indians who are living in India OR

production by those Indians who are living abroad both

will be included in GNP.

W income from Abroad
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/’ NDP = GDP - DEPRECIATION
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VA= Gross Domestic Product + Subsidies on products

=~ Taxes on products.

®* The new base year 1s 2011-12 against the previous base year of 2004-05.

® Earlier, calculation was based on the factor cost or cost of production.

* Now keeping line with the international prectices tabulation will be done
on the basis of market price or the price which consumer pays. This 1s also
called gross value addition (GVA).

* New method also includes more detailed data on corporate activity data,
newer surveys of spending by house holds and in formal business and taxes

paid (after deducting subsidies).



GROSS VALUE ADDITION (GVA)
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Q.1 What will be the expanded form of GDP?

/wﬁ.s‘i.lﬁ. T forEarfea &9 =T 89 T 2 m/

S.S.C. AT HTaeh T (T-1) 11 3, 2017 (I11- UTedl)

\/él) Gross Domestic Product/)Hshc E*I\{Q"lc\d('l“q

\/(b) goods household products/dTcd H\{cflc\dcqlc:

Ac) current household products/= IQfIC\H\{QfIC\ch Iq
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Q.2 What does GNP stand for? UV((’L@’VW
?
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®* The monetary value of the total goods and services finally

produced by the residents of the country in the country or
abroad in a year 1s called Gross National Product. Gross

National Product (GNP) reflects the economic achievement of a

_country.
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Q.3 How 1s Gross National Income or Net National Product calculated?
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Gross national income, i.e. net national product, is obtained by

deducting depreciation from gross national product. In other

words-
NNP = GNP — depreciation
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Q.4 Which of the following sectors of the economy has the highest share in India’s

GDP?
/T 35 St (GDP)  sroteaream 36 R ary B ferciar Ty a1 2 2
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The service sector of the economy has the largest share in India's

GDP. At 2011-12 prices, the Agriculture & allied, Industry, and
Services sector's composition 1s 16.38%, 29.34%, and 54.27%,

respectively. Share of primary, secondary and tertiary (services)
sectors have been estimated as 21.82 percent, 24.29 percent, and

53.89 percent.

IR I St 0 rderewen & dar &7 fil g8 s e 2
2011-12 T Al T, iV IR Heleg, IJTN IR AT & hl GLHAT
SRAST: 16.38%, 29.34% AR 54.27% B TTHeh, ATEAM® R qe1aeh
(FaT) &3 hT TEEerT 21.82 fdem, 24.29 Yfawrd 3 53.89 fawrd
STATI T 778 2




Q.5 Rate of the growth of an economy 1s measured in terms of

ST I Ihg X
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\%(d) Industrial Development/ﬁ@'&l’m" foreRTa




* The total value of final goods and services produced in any

economy during a year 1s called national income. The growth rate
of an economy 1s measured in terms of national income. Real
domestic product, national product and per capita income expressed
at factor cost are generally accepted as measures of economic

growth.
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Q.6 Which of the following term 1s used for the market value of all goods and

services in a year by the workers in the economy and the proper supply by the
sidents of the country? ) e i
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Q.7 Value of Total Goods and Services produced in a country is its

foreft <1 H IeaTe foRT 1T |YUT AT T T3l 1 Hoof 36eh FHEATAT B
U S.S.C. SETE CHSL (T-I) 7 SFaY, 2017 (1-arefh)
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* @Gross domestic product (GDP) or gross domestic income (GDI) is a

basic measure of an economy's economic performance. It i1s the sum
of the total money value of all final goods and services produced
within the borders of a nation in a year.

* Hehdl BTl 3U1E (GDP) AT Wehed XS] A (GDI) Teh ITEAT o6
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Q.8 Which among the following 1s included 1n the gross domestic product?

/ﬁﬂﬁ—rf@ﬂﬁﬁﬁ:r-w Hhel F] 3cU1E | IMHSA BT 2

S.S.C. JAFATST MTS (T-I) 18 TSR, 2021 (I-9TeiT)

=
i

(a) Sales of final good;}/ﬁﬁlﬂ TETHAT T Toish]
< o O

(b) Bartered goods and services/3acdT-sIacd[ TshQ

e 3R TaTg
(c) Sale of used goods/"o’q?iﬁ?T foru 71T g Y forshl

(d) Transfer payments/3Tc{Ul HITdT




® Sales of final goods are included in GDP. The total monetary

value of all final goods and services produced in a financial
year within the geographical limits of a country 1s called the
Gross Domestic Product (GDP) of that country.

o Sl QAT o1 forshT Tehet BT 3cuTe | A Bram & et am
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Q.9 While calculating GDP, which among the following 1s not included?

feaferiaa O 9 Fig-ar AT 1 ToET § 3ot T fora w||q:| ?

/ S.S.C. 3T MTS (T-1) 9 , 2017 (I1I- 9reit)
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(a) Final (\;)Bods/?ﬂﬁq aK]

(b) Final Se\rQices/aiﬁnaaTq‘
e (cﬁl_ntergqedia e Gooc@ qEAd] I
(d) None’of These / 378 © 1S &1




® The monetary value of final goods and services produced in a

financial year within the geographical boundaries of a country

is called GDP. Intermediate goods are not counted 1n this.
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10 Which organization 1s responsible for calculating the GDP of India?

Q.
/ﬂmﬁaﬁ@ﬁaﬁw%%@ﬁﬁw%ﬁw%?

S.S.C. 3AHATET s GD 18 , 2019 (11-97eiT)
N S.S.C. AR st GD 19 B, 2019 (11-91efh)
20) \> \3

%

(a) Finance Ministry/ Tt T

\/ ¢
(b) Chiet Economic Advisor/ J&I TP TATEHR

\/(c@entral Statistical Ofﬁcgﬁﬁ'w S EADEEADIGD
— () o cx
\%) Reserve Bank of India/ WA ST sk




/ India's GDP is calculated by the Central Statistics Office (now

the National Statistics Office). Its activities also include

compilation of national accounts, compilation of index of
industrial production, annual survey of industries and conduct
of economic census and compilation of consumer price index.

* WA ol S{ISIUT shi UM sha ™ Wiedshia hlerd (AT H T
mﬁ?ﬂ?ﬁ FATTT) SR ! ST 2| $Hoh hiIehalT ﬁwﬁaé@%
Heho, ST SedTad, eIehich s Heheld, STNT T JATMNeh
HAETOT HI ST TUHT T SIS TAT STHIHT Hed Gerehih hl

Gehote oft STfereT 21




Q.11 GNP — Depreciation Allowances =
ST, - TN SaHed =

g "y
S.S.C. AFATET MTS (T-I) 14 &S, 2017 (11- 9T

” Dowprasin b

%F = DNMW»L = (a) National income/ TSI 3T

: = S (b) N.D.P./u4.S1.4l.

335 (c(NNPm )

(d)/éNP/GﬁQ:rlﬁ




* After deducting Depreciation Allowances from GNP (Gross
National Product) NNP(Net National Product) 1s obtained,
while Net Domestic Product (NDP) is obtained by deducting

depreciation on capital goods of a country from its Gross
Domestic Product (GDP).

* STTAH. (Fhd UKF IU€) § § T¥H IFaHeA (Depreciation
Allowances) ! T2 9T U0, 9. GEREEARERIE ITH BIT &,

STeifeh foRefl 927 % Hehel Bl 3cdd (GDP) W § 39 &M o YSit
ST TSI BTE I HH ¥ I =] 3ca1e (NDP) 3T &I &




Q.12 Which of the following best represents the concept of Net Domestic Product

(NDP)?
/f«leEdegd H H ShIH-HT, 6 S 3cdTd (NDP) 3hi ST 1 Hei 3T &0
AT &7 S.S.C. HHATET MTS (T-T) 14 3T, 2021 (I-aTeft)

.
(a) GDP + Income from abroad/Si.SI.9t. (GDP) +

[ECIESEEID)
\)Eb) GDP — Income from abroad/sit €1.4t. (GDP) -
[ECLUESEEIR)
(c GDP-Depreciation@.@gf.qgf. (GDP) - g
~ —J
(d) GNP-Depreciation / Sil.TA.4t. (GNP) - AR



Q.13 The only difference between GNP and GDP 1s that GDP does not include

income from

\/Sﬁ@lﬁaﬁtwﬂs‘“ Y o = TehATS 37 I8 B, fon S & Y 3T MY 21 2

S.S.C. AT MTS (T-1) 4 3T, 2017 (11-9TeAT)
J\)\> GD Gp ‘MW ’r(‘bow) A}Oﬂbﬁ,c!

T A /g Tkl \\\(a) Domestic production /ﬂl{ﬁ RICICE]

g ot B
"”l{

c¢) Steel production / FHTd 3cUTGH

9(d) Secondary sector / ATETHe &5




* The only difference between GNP and GDP 1s that GDP does

not include income from abroad. Gross Domestic Product refers

to the gross value added by all entrepreneurs whether resident
or non-resident within the domestic territory of a country in an
accounting year.

o Sfiuad) 3 St & = ThAE a8 2, for st & foewr 9
AT M &l 2] Fehed BT 318 T dTcdd Toh ol 9 H Teh aF
<61 et e & wrft st =3 A R & a1 sifaT g 6

Hehel {ed i 9 &




Q.14 Which of the following best defines ‘Net National Income’?
fefefad 7 8 o o TS 3T ot Sgat aiieh ¥ TITNd ohiar 87
S.S.C. 3IHATET CHSL (T-1) 14 3T, 2020 (I-9TeA)

R

(a) NDP-Depreciation / T, SI. I, — Hod=Td

(b) GNP + Depreciation/sil.T1.dl. + S REN

L L

(c) GNP-Depreciation / SiI.GT.4T. — FREN

(d) GDP-Depreciation / Sit. €1l — S REN



